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Polygon A polygon is a ‘n’ sided closed figure formed

(TgHST) by line segments.

Thia gl 2|
TUETRGUGI A polygon in which :/Q’HT S ISEsL
aH < .
: L) ® all sides are equal/T¥l YSTU aITET Bl

® all angles are equal/T4T SHIUT aTET &l
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® Sum of all internal angles of a polygon of n
sides = (n- 2) 180°

n YAl Ol dgUsd & Ol raftes &Ion o
IFA = (n- 2) 180° A
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Sum of all exterior angles of a polygon of n
sides = 360°
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Each interior angle of a regular polygon of n
(n —2)180

sides = -
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Diagonal of a polygon/Sg¥st &kt TaeRut

If you join any 2 (non-adjacent) vertex of a
polygon then that is a diagonal.

afg ga fRdt agyst & 21 3HTa vitat skt fuend ar

Iz fasut wgarar 2l
& No. of diagonals in a polygon of n sides

n STl ATl SgHS & faewurt i wen

n(n — 3)
2
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DUR all ge BY ADITYA RANJAN SIR
No. of | Name of Sum of all | Sum of all No. of Regular polygon
Sides | Polygon interior exertior angles| diagonals
(n) angles Name Each Each
|Interior exterior
3 Triangle 180° 360° 0 Eq.A 60° 120°
4 Quadrilateral 360° 360° 2 Square 90° 90°
S Pentagon S540° 360° S Regular 108° 72°
Pentagon
6 Hexagon 720° 360° 9 Regular 120° 60°
Hexagon
n(n - 3) (n - 2)1809| [360°
n Polygon (n-2) 180° 360° 2 o =
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® Area of a regular polygon of n sides where
(180°)

length of each sideis a: n(4)cot -

n Y3 aTc 96 G & dA%A Tal Yedah 9ol
2
# FGE a T ng‘—‘-——cot———-——-——lso

n



na® cot (180°)
2 N




Perimeter of regular polygon =nx a

Y FE9S W UHT = n x a

where a is the length of the side
W&l n 9GS &® FAars 2
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Convex Polygon /37 dgHsl

AL

. All angles are less than 180°.
|t FIUT 180° W FH T &

. All diagonals lie inside the polygon.
gt fawul agas & 3727 7a E
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Concave Polygon/3Tadet Sgys

Atleast one angle > 180°.

U U FY TS Hior 180° | 31fuss grar &
Atleast one diagonal will lie outside the

polygon.
&N ¥ &9 T fashul agyst & aed gar gl
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(1) By default, if nothing is given in the
question, we consider it as convex polygon.

Iafe uoA o & Wt faar 7 & 9 g9 @Wa: 39 39
FEUS WA B

(2) Triangle is always a convex polygon.

faqst U9 3I9c agyus BT &
(3) All the regular polygons are convex.

[yt A9 TgYS I qgHA T 2
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Star/faam

Star is formed by extendending sides of a
regular polygan.
Y AEYH hi Y3 Sl G@q UT foanT a=ar 2

Mn=6 n=5
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HPXY Ex. Find the value of /P + Z/Q + /R + /S +
| /T in the given figure :
C PHLXHCY = 180 fa T aFfA W P+ /Q+ /R+ /S + /T

T U F7d ShiTAU)

CP+HLTHIRHLSHLQ = 1B0°
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q 1. The sum of the interior angles of a
- olygon is 1440°. The number of sides of
(n -?')W_ b d fheyﬁolygon is :
N= 10 fordl SIg9 & otiafias SIT o1 ANTHA 1440°
£ FEUA U el @ W ¢
(a) 6 (b) 9

sy 10 (d) 12
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i 2. Each interior angle of a regular polygon
Ext - 36 is . The number of sides of the

|0 .
x>, polygon is :
26" h fordt a0 SE9S &1 U iU 144° F1 Sg9A

(a) 8 (b) 9

\_ (e} 10 (d) 11
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A
" Cannt NS i the messure (i degrese) of
‘3:'-;’% 180' each interior angle?
M afe uw fafua agys & 16 g9 &, 91 39
w = 1s1.s U 3Tdfies ahiuT T |19 ( 3t o) <= 87
Ext = 6t =29 .o CGL 2019 Tier II (16/11/2020)

1
(a) 155 N 157

(c) 159% (d) 154
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ABCDE is a regular pentagon. Its sides are

extended as shown in the figure. The
108 + 712 + alb 66

/ABC +2/EGD + 3/BAT =246

value of P is :

ABCDE & frafua uwrenior 81 sar for forg o
femmar war & s@wt aw fawarfra 2

ZABC + 2/EGD + 3/ZBAJ
6

FTUAE

CHSL 14-10-2020 (Afternoon)
(a) 45° (b) 30°
(c) 75° (d) 66°
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S. How many diagonals are there in a 12
D= Nn(n-3) sided polygon.
_a" 12 Wl ATl agHs o fasuit @t wen fa 87
- XA (a) 48 __b) 54

l (c) 60 (d) 72
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6. If each interior angle of a regular polygon
n=260 = 8 is then the number of diagonals of

45 the polygon is equal to :
d = n(n-3) afg fordt 90 gy« &1 Uddeh 3fd: &hior 135°
2 &1 &, 9 agqd U faeurn @t G& s ®
’;“5 -2 (a) 54 (b) 48

J{5) 20 (d) 18
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y A polygon has 35 diagonals. The number

M: 3S of sides in the polygon is :
- fordt sgys o 35 fawul €1 sgys o g

w HE T
use_ophong (a) 6 (b) 9
45 _ophony (d)12
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dv+% = (B0 8. In a polyg?n, the ir}terior and exterior
angles are in the ratio 4 : 1. The number
of sides of the polygon is :

. frdt agqs W 3fa: 3N dT@ HIVN &l I
h:% —§g§~ \ ca : o o A
T?S('}Q/“O 4:1 % FgYA ° AR Hl ST §

(a) 8 \@/10

(c) 9 (d) 15
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T-€=\1S0
I+ =180 9 The difference between the interior angle

and the exterior angle at a vertex of a
€= 18-1S0 :@ regular polygon is 150°. The number of

2 sides of the polygon is :
N= 36t = oy U 99 Sgds & TRl oifd ¥ o1fdfter a9r ame
> 0T U 3T 150° Tl qgHSA ° YW W WSl §
(a) 10 (b) 15

\(y(24 (d) 30



Exe- 180- 1284 1O
> 5l%—b =—3—_€.’,0°
n= 360 X1 =
260 X7 =
d= 1G3) -
£3) =y

If each interior angle of a regular polygon

4
is (128 ;) , then what is the sum of the

number of its diagonal and the number of
its sides?

afe el w0 sg9S &1 Ud& ATdiieh w0l

O

' 4 \ . S :
(128;) g, 9 & fawon & "@Er 3w
IR AT &1 AT JTd i

SSC CGL TierII (11 September 2019)
(a) 15 (b) 19
(c) 17 (d) 21
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-
(n-2)X)8/= 126 11. The sum of the interior angles of a regular

polygon is 1260°. What is the difference
between an exterior angle and an interior
Extz 366 =Up angle of the polygon?
| X Usdh O Gg9S & 3ATdafieh hIOM kT AMT 1260
Nt = Yo €| 39 99N & Uch algl 9T Uah 3Miafich ahiol
. o 3T A
Wt = Loy

SSC CGL Tier II (12 September 2019)

(a) 105° \(p/ 100°

(c) 120° (d) 90°
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Ext= %60 12. If the measure of each exterior angle of

) o

1 1 i (51 3) then th
N= X" :@ a regular polygon is R en the
ratio of the number of its diagonals to the
d= 9(71-3) _@ number of its sides is :
> afg fepdt A0 agus & U aTe hivT ST 0T
: el E, e g R .
)’4')( [51;) %, @ 2Ueh Taerurt =it W a9 sueht
2|

T h &N W T A il
SSC CGL Tier II (13 September 2019)
(a) S: 2 (b) 13:6

(c) 3:1 @y 2:1
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Inbd'ﬂ:EXt.d'ﬁ& The number of sides in two regular
260 — 360 _ 6 polygons are in the ratio S : 4 and the
4x Sx difference between each interior angle of

the polygon is 6°. Then the number of

=) _32?0_ % -1 =6 " sides are :

A3 a1 TY SIS W WSl @ WS @ U S : 4
)leg_y~5 £ 3T 37 WS 3aiieh 0T § AT 6° T

@ (a) 15, 12 (b) 5, 4

(c) 10, 8 (d) 20, 16
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%59 __35%0 =2714. Number of sides of 2 polygons are in the
. ratio S : 2 and difference between the

o) 360 [ ¥ -_I]=2‘1' interior angles is 27°. Find the number of
Lt - & sides in the 2 polygons.

=) f@g’x&:ry{g’ 2 W9 S H Sl St W S 37U 5 ;2

r ) T it 37 Uk Ndafier IoT ¥ 3fav 27° T
t)')(':q AT i GE& § :
\(3})" 20, 8 (b) 15,6

(c) 10,4 (d) 25, 10
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41 S 9 B . The number of sides of two regular

, polygons are in the ratio S : 4. The
= _QQ[-L "-%-] =9 ﬁ%xa—%a_/q’ difference between their interior angles is
9°, Consider the following statements :

oy 10,8 a1 |H agqsl i WSl HT T 5 : 4 T
e ITeh ATt HIOT & dra &1 HaT 9° T

FeafafEa &9yt fa=mr shifao .
Which of the above statements is/are ><One of them is a pentagon and the

correct? other is a rectangle.

IqdEE § W HA-91 HIT T §/87 0 ¥ U g 3T FEA E E

(a) 1 only (b) 2 only 2)/ One of them is a decagon and the
(c) 1 and 3 Mmd 3 other is an octagon.

30 H Us FHYS T FE EYA )
Wl‘he sum of their exterior angles is
720°.

39 ATl HIUT & AMTESA 720° T
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(a) n=366 =12 16. Which of the following cannot be measure

30 of an interior angle of a regular polygon?
() =BEAY) oy g i e T g o
ShIUT T & Hehal?

(¢) h= - N :
3”4 (a) ‘5 0° \W(%‘tsﬁ
(d) n= M: 1) (c) 'é—l'Z° (d) % 6°
3

’l\\.\m §ichy °f) Q Polygon o ausssfs i
"Wiger € Hhuy can't B¢ 0 Yoy



The ratio of sides of two regular polygon
is 1 : 2 and ratio of their internal angles
is 2 : 3, what is the number of sides of
polygon having more sides?

a1 99 FgSl o WSl & U 1 : 2 a9
Ik 3id: IV T FFUE 2 : 3 T 3rfaE e
aTel agdS H qWsl i e ¥

(a) 4 \MS

(c) 6 (d) 12
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D

18. In regular pentagon ABCDE, angle
bisector of A meets at side CD on point
M and angle bisector of C meets side AM

at point P, then find the value of ZCxXM.
fdt w9 999 ABCDE W HIUT A &7
=4 qufguTseh YT CD &t fag M 9T 37T &iur C
W@M,Wm g1 AM @t fag P uv faemr 2
&“H(m-:ag | ZCXM T |19 FATd chil=U|
b (a) 18 (b) 36

@ (c) 54 (d) 72




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

The side BA and DE of a regular pentagon
are produced to meet at F. What is the

H./w measure of ZEFA?
v frafua g=eRior & BA 3T DE 93Tl &l
F deF 9@ Sar 81 ZEFA & |9 2RI 27
CGL 2019 Tier II (15/11/2020)

(a) 72° (b) 36°
(c) 60° (d) 54°
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20. Consider the following statements :
_ 3¢ feafafaa g v faenr st .
n '—_T%- )Q There exists a regular polygon whose
exterior angle is 70°.

qmﬁnmagaga%famamaﬁm70°

Cxt M_-'lz
2)/Let n > 5. Then the exterior angle of

any regular polygon of n sides is
acute.

o n>8 ¥, @ R ot n qenen ama
T FAZYS T ATEl K0T FF ZHI0T M
Which of the above statements is/are

correct?
I9gad U | @IA-91 e O §/87
(a) 1 only \(_13)/2 only

(c) Bothl1and 2 (d) Neither 1 nor 2
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21. Given that the angles of a polygon are all
equal and each angle is a right angle.

faar mar § T Tt gy o uees whioT |
3T TURIIT T

N=y UStatement-1 : The polygon has exactly
four sides.

&HIT-1 : FEWA U o AT F
atement-2 : The sum of the angles of a
lygon having n sides is (3n - 8) right
angles.

HI-2 : n A G foREl AEYS & wIOn
@& 91 = (3n - 8) WUHIUT|



Which one of the following is correct in
respect of the above statements?

INEE FAN H Had o A ° ¥ F=-ur a™
87
(a) Both Statement-1 and Statement-2

are true and Statement-2 is the
correct explanation of Statement-1.

AE FTAT-1 AT FI9-2 T £ 3T =72,
FIT-1 W TR AT HIA 2

(b) Both Statement-1 and Statement-2
are true but Statement-2 is not the
correct explanation of Statement-1.

FE FAT-1 AT FAT-2 T F 3T FAT-2,
FAT-1 F TR ANAT @ w2
(c)/Statement-1 is true but Statement-2
is false.
FI9-1 T F Wq F99-2 JqA 2
(d) Statement-1 is false but Statement-2
is true.

&FAA-1 JTA T Uq FAF-2 A 2




